
Plane Geometry 
Pair of  straight lines

Find the ange between the pair of

straight lines represented by

n + xy - 6y2+ 7x +31y - 18
= 0

Also find the election of the pair of

straight lines parallel to these and

Passing through the point (1 , 2)



So . Given es. is

n2 + xy-6y2+7x + 31y-18 = 0 -0
Compare ① with

an+ Chry + by +29n
+ 2 fy + c = 0

G = 1
,
h = 42

,
b = - 6

, g - 72 , 7 = 31

tano-na
C= - 18
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.

0 = 45
-
-

x + xy - 6y2 +Tx + 31y - 18 = 0

us +yrtsy, e
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a = =75y + 1)
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= x = + 18
and -6

x = 2y - 9 and -34 + 2

x - 2y + 9 = 0 - ⑪
x + 3y - 2 = 0 - N



the Line Parallel to⑪ is

x - 2y + k = 0 -

⑭ Passes through (1
,
2) (Giver)

1 - 2(2) + k = 0

1 - 4 + k = 0

K = 3 .



x - 2y + 3 = 0

es. Parallel to ⑪ is

x + 3y + y= 0 - 0

⑧ Passes through (1 , 2) (given
1 + 3(2) + y= 0

1 + 6 + y= 0

T + y= 0 =) X = -7



x + by - 7 = 0

x - 2y + 3 = 0

(x + 3y -1)(x - 2y + 3) = 0

a -Cay +3x + 3xy - 6y2 + gy- 7x
+14y - 21 = 0

n +
xy - 4x - 6y2+ 23y - 21 = 0


